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20% fi# BernoulliDE y'+y=xy°

d’x
dt?

25% +64x =2cosawt, x(0)=0, x'(0)=1
(a) 10% o = 81KF » S x(1)
(b) 15% limx(6) =7

xX—y=3
25%{ 4
x+y=-1

(a) 5% FEE LR ERIE R, > Bl A% =6 > MBI AR -
{b) 5%{if F| Cramer's Rule 3K fi#

(c) 5%3RHE A RISCHERH A7 > T A7 Skfig X

(d) 5%3KfE A FYRS BEEL S R R B &R
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30%  f(x,»)= —
x“+y
(a) 6%3K Vf
(b) 6%R V x Vf

(c) 6%ERsE fREAWEE Laplace equation V2 f = 0,(x, ) ¢ (0,0)?
(d) 6% 3K fTEEL(1, 0B b i A 7 1a] B B ML R e

(e) 6%3K FEEHL,0) 4 =7 + J AT IS D, f(1,0)

HITH - HI1H



